The Populists
A. Background

The conflicts of the industrial age reached their height during the 1890’s.  The farmers and workers, better organized than before, demanded a greater share of the national wealth.  The masters of capital insisted on the right to operate as they pleased without interference from society or government (laissez faire).  In this struggle the industrialists were victorious.  By 1900 labor unions had been rendered powerless by the use of the injunction (a stop to striking by the court); The Sherman Anti-Trust Act and the Interstate Commerce Act became ineffective because the courts did not support acts limiting business; farmers were beaten politically at the polls and they were ready to abandon their battle for economic equality.  Instead, the conservative triumph led the farmers to an inevitable reaction - the Progressive Movement of the early twentieth century.
B. Problems of Farmers and the Economy
(1) Causes. There was a great deal of agrarian unrest.  The factors (causes) that led to this unrest were: 
(a) The rise of the city made the farmer aware of his own grim existence.  Cities were 

         bustling with social life and excitement and farmers were living a less social and exciting life.  

(b) The price of agricultural staples decreased steadily…until wheat was sold at sixty-three cents a bushel, corn at thirty cents, and cotton at six cents a pound!  The prices paid to farmers were even lower.  Farmers insisted that they could not make money, and each year went further into debt.

(c) Not enough rainfall; drought had ruined thousands of farmers’ crops.

(d) Mounting debts started by the government and society’s push for farmers to move west and take mortgages they couldn’t afford to pay.  There was nearly one mortgage for every two people in the Midwest.  In the South the situation was made worse by the “crop-lien system” – a farmer mortgaged his growing crop at high interest rates to carry himself until harvest time.  If the crop was not profitable, he lost his whole year’s income to pay off the lien.  

(e) Mortgage foreclosures increased as low crop prices prevented farmers from paying their debts.  By 1890 one-fourth of the farmers of Kansas were tenants or share croppers, other states had the same problem.  It seemed as if America was creating a peasant class.

(2) Solutions
a) Farmers were convinced that a more plentiful money supply would allow them to pay off their debts as well as increase the price of crops.  Inflation was their principal demand through the 1880’s and 1890’s. Inflation would make the amount of money circulating increase so farmers could pay their debt and consumers could buy more…but this could lead to problems because the value of the dollar would go down. 

b) There was a money problem though, three types of money were in circulation in 1890: greenbacks (dollars), National bank notes (like bonds/promises), and gold coins.  The amount of these forms of money in circulation had not increased over the years, even though the population had doubled.  The farmer-debtor had to produce two bushels of wheat (at fifty cents a bushel) to pay for a dollar he had borrowed when wheat was worth one dollar a bushel.  The suggested solution of the farmers was to just have the government make more actual dollars.  The Greenback Party was created; they supported the government creating more money without having the money backed by gold reserves.  Their main support came from a small group of farmers, so the party did not survive.  
c) In 1873 a law had been passed placing the U.S. on a gold standard, meaning that silver hadn’t any value.  The farmers called this the Crime of 1873 because is had deprived them of a cheaper circulating medium.  They demanded that the law be repealed and the free and unlimited coinage of silver be restored.  
C. Forming of a Political Party
Farmers began to form alliances, a Southern and a Northern one.  These parties had millions of members by the 1890s.  Their party platform included support for free silver, graduated income tax, government ownership of the railroads, and other reforms.  Many officials from these alliances were elected on the local level.  Fanatical and enthusiastic speakers encouraged farmers to “raise less corn and more Hell!” (speakers: Pitchfork Ben Tillman, Sockless Jerry Simpson, Ignatius Donnelly, James B. Weaver, and Mary Lease).

The next step was to form the Populist Party…The Populist Party: Encouraged by their success in 1890, representatives of northern and southern alliances met at Cincinnati in May, 1891, to form a new party.  This they called the People’s Party, or Populist Party.  The party had many of the same platforms as the Alliances, including a circulating medium of $50 per person in the population.  
D. Populists

In 1892 Grover Cleveland, the Democratic candidate, won the election with 277 electoral college votes.  Benjamin Harrison, the Republican lost with 145 electoral votes.  The Populist Party candidate James B. Weaver received 22 electoral votes, and a million popular votes – showing they had a great deal of influence and support, even if they didn’t win the election.  A McKinley Tariff law was a primary reason for the Cleveland win.  The bill turned a surplus of money (extra) for the government into a deficit.  

(1) Panic of 1893 – a money problem caused by the decline of farmer purchasing power, which decreased the demand for manufactured goods; a European depression which limited foreign markets, overinvestment in railroads and industrial plants based on speculation, and fears created among businessmen by the treat of free silver.  President Cleveland believed that the depression would end only when the public’s confidence in the nation’s currency was reestablished by banishing the threat of inflation.  He took two major steps: (a) eased the strain on the gold reserve by repealing the silver purchase act; and (b) built the gold reserve by borrowing it from private individuals and sold bonds.  By 1896 public confidence had returned and the depression ended.  However, Cleveland’s action convinced farmers and workers that he had sold out to Wall Street, this prepared the way for a revival of Populism.

(2) Election of 1896 – There was still Western discontent due to drought, falling farm prices, Government conservatism – acts such as smashing the Pullman strike, outlawing the income tax by the Supreme Court, etc.  There was also a great deal of effective propaganda!  Populist strength had grown.  The midterm elections in 1894 gave the Populists seats in Congress and hope for the presidential election two years later.  The Populists did not want to split the vote and get a Republican elected so they threw their support behind the Democratic candidate William Jennings Bryan and put forward one of their own for Vice President.  All was lost and the Republicans, Conservatives, won the election by carrying the Northeast and Middle West.  This McKinley term (1897-1901) was occupied mostly by foreign affairs.  The two major domestic issues that were settled were: the tariff question – Dingley Tariff, raised duties 57%, thereby returning prosperity after the Panic of 1893; this made Republicans look responsible.  Also, the money question was resolved – since the nation was becoming more prosperous (farmers were even doing better b/c of crop failures in Europe), McKinley urged Congress to settle the currency issue forever because he saw a decline in farmer discontent.  The Gold-Standard Act (1900) was created, making all forms of money redeemable in gold, at the same time increasing the gold reserve to $150,000,000.  

(3) The Populist “Victory” – The Populists’ demands were in keeping with the American tradition, and therefore they could not be denied forever!  After the turn of the century, when the Progressive Period allowed the people to regain partial control of their nation’s government and economy, the liberal program outlined by the Populist Party Platform was gradually realized.  
